|

AW
A
g
kN
)
§
L
i
A
3
F
i
!

(H06FIR168~HH6F105148% 4] (BFNlE)

JaH H
9H5H

PN

)=

N A

Hrwvsd) Forey )

HLL

ge (o1 10A1H

B

t i

BACH I LHTET
K #

il

S

o B

ro®| X H

i
LIZF
3%

:~44

it
£

W Bl

&

%

ju N

M
W = 9

<~

(AW;:S
M
g
TIZ
=
Z W
2 5
T #L
g9 %
 fE
ik
&
Iz
e
W)
5

@

D SEENAT A O FAF S
O . STBSEAFHEEL L

> o“‘%‘%‘

>
]

SHAVEF RSO AETE A
ZEAESSOBOFETOR W

£ o H
8 4%
8 9%
8 67%
9 6%
LY
7 3%
8 5%
8 27%
1007%

H T P
9A8H mmHT
9H15H  BéEHT
9H16H  masRH]
9R21H  #HHT
9R26H kM
9 H26H it
9H2/H
108 4H
10H10H

NN AN
AN

OO —
OrhwWOO
=
R

-5
(9 B3 0H3#RHE)

CDILRESIEBERZE > TLNET,

LS A CHEFST A
ASSENT A G TR AN
FCHSSHE T O T AU

SEFTFHOXI AN FC N

b
T

.t
3
s

2
=
0

T L E ST ODRERIE R b M
TERMN S (NS T S I Y S o kg
cu

FA A FEBFIUNHE TN

i

1B E- A = 15 & R
QX DTERE (FES) B R IR B & #8[10:00~11:00
1 |& | F2nEHNE (@) # Ik B = #8(13:00~14:00
S SMEHHNE (FRH) Bty 5— BE=2|14:45~1545
2 | £
3 |8 |3tdB8
4 | B | IRBNKB
5 |X
6 K| ®FAZTEEE SNdWVEEE Y& — |10:00~11:30
7 |K
QX DTEBRE (FEF) B 87 IR B & #[10:00~11:00
S SmEHHNE (@) & Ik B = #8[13:00~14:00
QX DTEHE (FRAHED) BtV Y — FHE=2|1445~1545
8 |& & = gl | 9:00~9:30
SEEBME [OFXDOS] kBT (8] 7 % PFr  #0[10:00~11:00
% 5 A1 (12:30~16:00
W AVIREE SNWVWREETEY S — | 9:30~11:45
9 |+
10 |8
1|8
12 | X | @R08EH WLEIB &% % 1 B 48 3 =|13:30~15:30
O FAHEERES SNdWVEEE Y5 — |10:00~11:30
13 | 7K | @RDBEHE KA SNHWVTOY | RASHTH—E2EY9—| 9:30~11:30
SV HVBEERHE (BF) B E &£ & #8(13:30~15.00
14 | K | @1TEHEE% ® 152 /N = E=E|1300~1500
1567 8% - IR - SmERELE | SNbVEEEY 49— [13:00~13:30
15 la S S5mEHHE FET) B ® IR B & #8(10:00~11:00
QXD EDRE (BhE) # IR B = #8[13:00~14:00
S5 mEHHRE (FRHH) B> 5 — BEE|14:45~1545
16 | =
17 1B
18 | B | ®/\AY7—1#&Z N2 FEHARD) | ALIRD AREZ LY 5 —| 9:00~18:00
19 | X
20 |k QR DERHZEI SMNbWVTOY | REPUITT—EALYS—| 9:30~11:30
S FAHETERES SMbWERE>Y 45— |10:00~11:30
21 | K| OBRREGERES B N &t Y % —|1830~
L SRR SRt >4 —|13:00~13:30
QX DTEHE (FEfD) B R IR B & #8(10:00~11:00
2 | & | OFDTLEHHE (BhE) # Ik ® = #8[13:00~14:00
S SmEHHNE (FRH) Bty 5— HE=2|14:45~1545
@I IO AMEIEEIBHN £ H % ik 8 = £|13:00~16:00
23 |+ | B REEHD B
24 18
25 | B | OREHE (KB K E & B = #£(10:00~11:30
26 | N
S FHEERED S WRETE Y4 —[10:00~11:30
27 | K | OWDEERHAZEX SIMDBWNTOY | EABHF1—-E2EY5—| 9:30~11:30
@ HBEEHEBR) 8 & & & £8|13:30~15.00
28 | K | @IL4h\RERIER - D vERER SNdWVEEE Y5 — |13:00~13:30
S SmEHHE FHT) B R Ik B = #8(10:00~11:00
9 | & | OFRDTEHHE (BhE) #% Ik E = 8 |13:00~14:00
SZS5MEHRE (FRHH) B>y v — FEE|[14:45~15:145
30 | £
128 E A = 12 B M
118
2 |B
o - A = = |11:00~12:00
3 | N | @FEEIER (BFH) "B2EBREE 13.00~15.00
4 |x QS FAEERED S WEETEY 4 — [10:00~11:30
L SN ER ® B 2K = & F|1300~1500
5 | &
6 |&
7 |x




